

RWDS Dance Registration 2016/2017

Senior

15-18yrs old as of Dec 31, 2016

Dancer's Name:	Age:
----------------	------

Ballet is mandatory for ALL classes except Acro, Hip Hop and Street Jazz

Interest in Class Assistant	
-----------------------------	--

A. Dance Fees:			
# of Dance	Style of Dance	Cost per month	Total cost
1 st dance	Ballet (1hr 30Min)	\$55 x 8 = \$440	
2 nd dance	Tap (1 hr)	\$25 x 8 = \$200	
3 rd dance	Senior Hip Hop (1 hr) if taking ballet	\$25 x 8 = \$200	
4 th dance	Jazz (1 hr)	\$25 x 8 = \$200	
5 th dance	Lyrical (1 hr)	\$25 x 8 = \$200	
6 th dance	Musical Theatre (1 hr)	\$25 x 8 = \$200	
7 th dance	Acro - Class only (1 hr) if taking ballet	\$25 x 8 = \$200	
8 th dance	Progressions (45 Min)	\$20 x 8 = \$160	
9 th dance	Modern (1 hr)	\$25 x 8 = \$200	
10 th dance	Senior Street jazz (1 hr)	\$25 x 8 = \$200	
first class	Hip Hop if not taking ballet	\$40 x 8 = \$320	
Second class	Street Jazz if not taking ballet	\$40 x 8 = \$320	
Third Class	Acro if not taking ballet	\$40 x 8 = \$320	
Total Dance Fees:			A. \$

B. Fundraising Fee: [One per FAMILY] 4 X \$50 gift certificates from Parkland Meats OR \$100 opt out payment in lieu of fundraising At registration please pay with a postdated Cheque dated October 31,2016	B. \$ 200 OR \$100
---	--------------------

C. Registration Fee: \$25 (Every dancer)	C. \$25
---	---------

D. Costume Fee: \$75/dance x _____ (# of dances) * no fee for Progressions or Acro class	D. \$
--	-------

E. Competition Fee: \$25/dance x _____ (# of dances) * No fee for Progression or Acro class	E. \$
---	-------

Total Fees Payable: A + C + D + E + Separate Fundraising check	Total = \$
---	------------

Payment Options:	
1. Payment in full (dated Sept /16)	
2. 2 equal payments (dated Oct 1/16 and Feb1/17 with Separate fundraising check)	
3. 8 equal payments (dated the first of each month Sept/16 - Apr/17) (with Separate fundraising check)	

Form completed and checked: _____ (executive initials)

RWDS Dance Registration 2016/2017

Junior

12-14 yrs. old as of Dec 31, 2016

Dancer's Name:	Age:
----------------	------

Ballet is mandatory for ALL classes except Hip Hop.

Interest in being Class Assistant	
-----------------------------------	--

A. Dance Fees:			
# of Dance	Style of Dance	Cost per month	Total cost
1 st dance	Ballet (1hr 30Min)	\$55 × 8 = \$440	
2 nd dance	Tap (1 hr)	\$25 × 8 = \$200	
3 rd dance	Junior Hip Hop (1 hr) if taking ballet	\$25 × 8 = \$200	
4 th dance	Jazz (1 hr)	\$25 × 8 = \$200	
5 th dance	Lyrical (1 hr)	\$25 × 8 = \$200	
6 th dance	Musical Theatre (1 hr)	\$25 × 8 = \$200	
7 th dance	Acro - Class only (1 hr) if taking ballet	\$25 × 8 = \$200	
8 th dance	Progressions (45 Min)	\$20 × 8 = \$160	
9 th dance	Modern (1 hr)	\$25 × 8 = \$200	
first class	Hip Hop if not taking ballet	\$40 × 8 = \$320	
Second class	Acro if not taking ballet	\$40 × 8 = \$320	
Total Dance Fees:			A. \$

B. Fundraising Fee: [One per FAMILY] 4 X \$50 gift certificates from Parkland Meats OR \$100 opt out payment in lieu of fundraising At registration please pay with a postdated Cheque dated October 31, 2016	B. \$ 200 OR \$100
--	---------------------------

C. Registration Fee: Every dancer	C. \$25
--	----------------

D. Costume Fee: \$75/dance × _____ (# of dances) * no fee for Progressions or Acro class	D. \$
--	--------------

E. Competition Fee: \$25/dance × _____ (# of dances) * No fee for Progressions or Acro class	E. \$
--	--------------

Total Fees Payable: A + C + D + E + Separate Fundraising check	Total = \$
---	-------------------

Payment Options:	
1. Payment in full (dated Sept /16)	
2. 2 equal payments (dated Oct 1/16 and Feb1/17 with Separate fundraising check)	
3. 8 equal payments (dated the first of each month Sept/16 - Apr/17) (with Separate fundraising check)	

Form completed and checked: _____ (executive initials)

RWDS Dance Registration 2016/2017

Elementary

9 - 11 years old as of Dec 31, 2016

Dancer's Name:	Age:
----------------	------

Ballet is mandatory for ALL classes except hip hop.

A. Dance Fees:			
# of Dance	Style of Dance	Cost per month	Total cost
1 st dance	Ballet (1 hr 15 min)	\$47 x 8 = \$376	
2 nd dance	Tap (45 min)	\$20 x 8 = \$160	
3 rd dance	Hip Hop (45 min) if taking ballet	\$20 x 8 = \$160	
4 th dance	Jazz (1 hr)	\$25 x 8 = \$200	
5 th dance	Lyrical (45 min)	\$20 x 8 = \$160	
6 th dance	Musical Theatre (1 hr)	\$25 x 8 = \$200	
7 th dance	Acro - Class only (1 hr) if taking ballet	\$25 x 8 = \$200	
8 th dance	Flex & Technique class (30min)	\$15 x 8 = \$120	
first class	Hip Hop if not taking ballet	\$35 x 8 = \$280	
Second class	Acro if not taking ballet	\$35 x 8 = \$280	
Total Dance Fees:			A. \$

B. Fundraising Fee: [One per FAMILY] 4 X \$50 gift certificates from Parkland Meats OR \$100 opt out payment in lieu of fundraising At registration please pay with a postdated Cheque dated October 31, 2016	B. \$ 200 OR \$100
--	---------------------------

C. Registration Fee: \$25 (Every dancer)	C. \$25
---	----------------

D. Costume Fee: \$65/dance x _____ (# of dances) * no fee for Acro or Technique class	D. \$
---	--------------

E. Competition Fee: \$25/dance x _____ (# of dances) * no fee for Acro or Technique class	E. \$
---	--------------

Total Fees Payable: A + C + D + E + Separate Fundraising check	Total = \$
---	-------------------

Payment Options:	
1. Payment in full (dated Sept /16)	
2. 2 equal payments (dated Oct 1/16 and Feb1/17 with Separate fundraising check)	
3. 8 equal payments (dated the first of each month Sept/16 - Apr/17) (with Separate fundraising check)	

Form completed and checked: _____ (executive initials)

RWDS Dance Registration 2016/2017

Novice

7 and 8 years old as of Dec 31, 2016.

Dancer's Name:	Age:
----------------	------

Ballet is mandatory for ALL classes except hip hop...

A. Dance Fees:			
# of Dance	Style of Dance	Cost per month	Total cost
1 st dance	Ballet (1hr)	\$47 x 8 = \$376	
2 nd dance	Tap (45 min)	\$20 x 8 = \$160	
3 rd dance	Hip Hop (45 min) if taking ballet	\$20 x 8 = \$160	
4 th dance	Jazz (1 hr)	\$25 x 8 = \$200	
5 th Dance	Technique (30 min)	\$15 x 8 = \$120	
first class	Hip Hop if not taking ballet	\$35 x 8 = \$280	
Total Dance Fees:			A. \$

B. Fundraising Fee: [One per FAMILY] 4 X \$50 gift certificates from Parkland Meats OR \$100 opt out payment in lieu of fundraising At registration please pay with a postdated Cheque dated October 31, 2016	B. \$ 200 OR \$100
--	---------------------------

C. Registration Fee: \$25 (Every dancer)	C. \$25
---	----------------

D. Costume Fee: \$65/dance x _____ (# of dances) * no fee for Technique class	D. \$
---	--------------

E. Competition Fee: \$25/dance x _____ (# of dances) * no fee for Technique class	E. \$
---	--------------

Total Fees Payable: A + C + D + E + Separate Fundraising check	Total = \$
---	-------------------

Payment Options:	
1. Payment in full (dated Sept /16)	
2. 2 equal payments (dated Oct 1/16 and Feb1/17 with Separate fundraising check)	
3. 8 equal payments (dated the first of each month Sept/16 - Apr/17) (with Separate fundraising check)	

Form completed and checked: _____ (executive initials)

RWDS Dance Registration 2016/2017

Primary

5 and 6 yrs. old as of Dec 31, 2016

Dancer's Name:	Age:
----------------	------

A. Dance Fees:			
# of Dance	Style of Dance	Cost per month	Total cost
1 st dance	Ballet (45 min)	\$35 x 8 = \$280	\$280
2 nd dance	Tap (30 min)	\$15 x 8 = \$120	
3 rd dance	Jazz (45 min)	\$20 x 8 = \$160	
4 th dance	Technique (30 min)	\$15 x 8 = \$120	
Total Dance Fees:			A. \$

B. Fundraising Fee: [One per FAMILY] 4 X \$50 gift certificates from Parkland Meats OR \$100 opt out payment in lieu of fundraising At registration please pay with a postdated Cheque dated October 31, 2016	B. \$ 200 OR \$100
--	--------------------

C. Registration Fee: \$25 (Every dancer)	C. \$25
---	---------

D. Costume Fee: \$65/dance x _____ (# of dances) * no costume fee for Technique class	D. \$
---	-------

Total Fees Payable: A + C + D + Separate Fundraising check	Total = \$
---	------------

Payment Options:	
1. Payment in full (dated Sept /16)	
2. 2 equal payments (dated Oct 1/16 and Feb1/17 with Separate fundraising check)	
3. 8 equal payments (dated the first of each month Sept/16 - Apr/17) (with Separate fundraising check)	

Form completed and checked: _____ (executive initials)

RWDS Dance Registration 2016/2017

**Tiny Tot/ Creative Ballet (45 minute class)
3 and 4 years old as of Dec 31, 2016**

Dancer's Name:	Age:
----------------	------

We offer only one class to Tiny Tot age students

Ballet	
--------	--

A. Dance Fees:

# of Dance	Style of Dance	Cost per month	Total cost
#1	Creative Movement (45 min)	\$35 x 8 = \$280	\$280
Total Dance Fees:			A. \$280

B. Fundraising Fee: [One per FAMILY] 4 X \$50 gift certificates from Parkland Meats OR \$100 opt out payment in lieu of fundraising At registration please pay with a postdated Cheque dated October 31, 2016	B. \$ 200 OR \$100
--	---------------------------

C. Registration Fee: \$25 (Every dancer)	C. \$25
---	----------------

D. Costume Fee: \$60/dance x _____ (# of dances)	D. \$ 60
---	-----------------

Total Fees Payable: A + C + D + Separate Fundraising check	Total = \$
---	-------------------

Payment Options:	
1. Payment in full (dated Sept /16) or cash	
2. 2 equal payments (dated Oct 1/16 and Feb1/17 with Separate fundraising check)	
3. 8 equal payments (dated the first of each month Sept/16 - Apr/17) (with Separate fundraising check)	

Form completed and checked: _____ (executive initials)

RWDS Student Registration 2016/2017

Boys

Dancer's Name:	Age:
----------------	------

A. Dance Fees:			
# of Dance	Style of Dance	Cost per month	Total cost
1 st dance	Boys only Hip- Hop (45 min)	\$35 x 8 = \$280	\$
2 nd dance	1 hour class	\$25 x 8 = \$200	\$
3 rd dance	45 min class	\$20 x 8 = \$160	\$
4 th dance	Flexibility & Technique (30 min)	\$15 x 8 = \$120	
Total Dance Fees:			A. \$

B. Fundraising Fee: [One per FAMILY] 4 X \$50 gift certificates from Parkland Meats OR \$100 opt out payment in lieu of fundraising At registration please pay with a postdated Cheque dated October 31, 2016	B. \$ 200 OR \$100
--	---------------------------

C. Registration Fee: \$25 (Every dancer)	C. \$25
---	----------------

D. Costume Fee: \$65/dance x _____ (# of dances) No fee for Acro	D. \$ 60
--	-----------------

E. Competition Fee: \$25/dance x _____ (# of dances) No fee for Acro	E. \$
--	--------------

Total Fees Payable: A + C + D + E. plus Separate Fundraising check	Total = \$
---	-------------------

Payment Options:	
1. Payment in full (dated Sept /16)	
2. 2 equal payments (dated Oct 1/16 and Feb1/17 with Separate fundraising check)	
3. 8 equal payments (dated the first of each month Sept/16 - Apr/17) (with Separate fundraising check)	

Form completed and checked: _____ (executive initials)

RWDS Registration & Release Form

Age Group: _____

Name of Dancer: _____

Birthday: _____ Age (as of Dec 31, 2016): _____

Hospitalization #: _____

Parent(s)/Guardians Name: _____

Mailing Address: _____

Phone #: _____ Cell #: _____

Email address: _____

(Required for important information and notices, dance cancellations, and monthly newsletters.)

Emergency Contact: _____

Phone #: _____

Waiver:

In consideration of your accepting this entry, I _____ parent/guardian) on behalf of _____ (dancer) hereby, for myself, my heirs, executors and administration, waive and release my rights and claims for damage that I/we may have against Rhythm Works Dance Studio, it's employees, executive, and volunteers for any and all injuries incurred by my child through the 2016/2017 dance season.

I consent to have my child photographed or videoed and to have those photos/videos posted or advertised by RWDS.

_____ Dated: _____, 2016

(Signature of parent/guardian)

PLEASE, ONE WAIVER PER CHILD. Thank you